6. CANDIDATES

The five candidates for mayor in the town of
Smallville were members of these five parties:
Conservative, Democrat, Independent, Liberal, and
Republican. Their names are Goshen, Hargreaves,
Jensen, Liebowitz, and Nelson. From the
information given, determine not only the party to
which each of the candidates belong, but also the
order of finish in the election.

1. The Democrat and the Independent, in no
particular order, were the first- and fifth-place
vote-getters, but neither one is named
Hargreaves or Jensen.

2. Nelson did better than Liebowitz but not as well

as the Republican.

Goshen is not an Independent candidate.

4. The Liberal did better than Jensen but not as
well as Hargreaves.
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